

Newport Rifle Club Practical Pistol July 19 2015

Name	Division	Pts1	Pen1	Time1	Score1	Pts2	Pen2	Time2	Score2	Pts3	Pen3	Time3	Score3	Pts	Time	Score	Rank
Scott Cook	Double Stack	26	2	9.39	0.639	47	1	18.23	2.030	74	0	21.76	3.401	117	49.38	2.369	1
Rob Beebe	Double Stack	34	0	12.77	2.662	49	1	15.77	2.473	58	1	23.03	2.084	121	51.57	2.346	2
Kevin Mathis	Single Stack	33	1	14.24	1.615	58	0	22.36	2.594	60	0	31.45	1.908	141	68.05	2.072	3
Dexter Liu	Double Stack	35	2	15.3	0.980	55	1	24.71	1.821	76	0	28.24	2.691	136	68.25	1.993	4
Paul Donovan	Revolver	29	1	11.37	1.671	53	2	26.99	1.223	64	0	23.52	2.721	116	61.88	1.875	5
Chris Schubert	Double Stack	31	1	14.45	1.453	57	0	25.03	2.277	50	1	34.06	1.174	118	73.54	1.605	6
Dan Bartholomew	Double Stack	20	3	11.61	-0.861	49	1	19.84	1.966	57	0	27.3	2.088	86	58.75	1.464	7
Jeff Archer	Double Stack	25	2	15.05	0.332	37	4	24.22	-0.124	76	0	30.74	2.472	78	70.01	1.114	8
Keith Silvia	Double Stack	34	0	15.81	2.151	57	0	31.39	1.816	58	3	64.52	0.434	119	111.72	1.065	9
Vincent Pattvina	Double Stack	18	3	15.23	-0.788	41	2	35.37	0.594	62	1	33.91	1.533	61	84.51	0.722	10
Walter Anoushian	Double Stack	24	4	14.75	-1.085	42	2	43.79	0.502	69	1	32.38	1.822	65	90.92	0.715	11
Frank Molino	Revolver	26	2	17.49	0.343	45	2	27.17	0.920	44	3	61.16	0.229	45	105.82	0.425	12
Rick Paiva	Double Stack	25	3	18.37	-0.272	45	0	22.81	1.973	37	7	28.23	-1.169	7	69.41	0.101	13
Mike Carey	Single Stack	19	4	26.44	-0.794	32	4	59.73	-0.134	34	7	94.45	-0.381	-65	180.62	-0.360	14
Denise Dulac	Single Stack	12	6	23.93	-2.006	38	2	62.78	0.287	14	10	67.23	-1.279	-116	153.94	-0.754	15
Ray Palmieri	Double Stack	29	0	15.06	1.926	0	0	0	0.000	0	0	0	0.000	0	0.00	DQ	16

Double Stack	Division	Pts1	Pen1	Time1	Score1	Pts2	Pen2	Time2	Score2	Pts3	Pen3	Time3	Score3	Pts	Time	Score	Rank
Scott Cook	Double Stack	26	2	9.39	0.639	47	1	18.23	2.030	74	0	21.76	3.401	117	49.38	2.369	1
Rob Beebe	Double Stack	34	0	12.77	2.662	49	1	15.77	2.473	58	1	23.03	2.084	121	51.57	2.346	2
Dexter Liu	Double Stack	35	2	15.3	0.980	55	1	24.71	1.821	76	0	28.24	2.691	136	68.25	1.993	3
Chris Schubert	Double Stack	31	1	14.45	1.453	57	0	25.03	2.277	50	1	34.06	1.174	118	73.54	1.605	4
Dan Bartholomew	Double Stack	20	3	11.61	-0.861	49	1	19.84	1.966	57	0	27.3	2.088	86	58.75	1.464	5
Jeff Archer	Double Stack	25	2	15.05	0.332	37	4	24.22	-0.124	76	0	30.74	2.472	78	70.01	1.114	6
Keith Silvia	Double Stack	34	0	15.81	2.151	57	0	31.39	1.816	58	3	64.52	0.434	119	111.72	1.065	7
Vincent Pattvina	Double Stack	18	3	15.23	-0.788	41	2	35.37	0.594	62	1	33.91	1.533	61	84.51	0.722	8
Walter Anoushian	Double Stack	24	4	14.75	-1.085	42	2	43.79	0.502	69	1	32.38	1.822	65	90.92	0.715	9
Rick Paiva	Double Stack	25	3	18.37	-0.272	45	0	22.81	1.973	37	7	28.23	-1.169	7	69.41	0.101	10

Ray Palmieri	Double Stack	29	0	15.06	1.926	0	0	0	0.000	0	0	0	0.000	0	0.00	DQ	11
--------------	--------------	----	---	-------	-------	---	---	---	-------	---	---	---	-------	---	------	----	----

Revolver	Division	Pts1	Pen1	Time1	Score1	Pts2	Pen2	Time2	Score2	Pts3	Pen3	Time3	Score3	Pts	Time	Score	Rank
----------	----------	------	------	-------	--------	------	------	-------	--------	------	------	-------	--------	-----	------	-------	------

Paul Donovan	Revolver	29	1	11.37	1.671	53	2	26.99	1.223	64	0	23.52	2.721	116	61.88	1.875	1
Frank Molino	Revolver	26	2	17.49	0.343	45	2	27.17	0.920	44	3	61.16	0.229	45	105.82	0.425	2

Single Stack	Division	Pts1	Pen1	Time1	Score1	Pts2	Pen2	Time2	Score2	Pts3	Pen3	Time3	Score3	Pts	Time	Score	Rank
--------------	----------	------	------	-------	--------	------	------	-------	--------	------	------	-------	--------	-----	------	-------	------

Kevin Mathis	Single Stack	33	1	14.24	1.615	58	0	22.36	2.594	60	0	31.45	1.908	141	68.05	2.072	1
Mike Carey	Single Stack	19	4	26.44	-0.794	32	4	59.73	-0.134	34	7	94.45	-0.381	-65	180.62	-0.360	2
Denise Dulac	Single Stack	12	6	23.93	-2.006	38	2	62.78	0.287	14	10	67.23	-1.279	-116	153.94	-0.754	3

Stage 1	Division	Poin	Penalt	Time	Score	Rank
---------	----------	------	--------	------	-------	------

Rob Beebe	Double Stack	34	0	12.77	2.662	1
Keith Silvia	Double Stack	34	0	15.81	2.151	2
Ray Palmieri	Double Stack	29	0	15.06	1.926	3
Paul Donovan	Revolver	29	1	11.37	1.671	4
Kevin Mathis	Single Stack	33	1	14.24	1.615	5
Chris Schubert	Double Stack	31	1	14.45	1.453	6
Dexter Liu	Double Stack	35	2	15.3	0.980	7
Scott Cook	Double Stack	26	2	9.39	0.639	8
Frank Molino	Revolver	26	2	17.49	0.343	9
Jeff Archer	Double Stack	25	2	15.05	0.332	10
Rick Paiva	Double Stack	25	3	18.37	-0.272	11
Vincent Pattvina	Double Stack	18	3	15.23	-0.788	12
Mike Carey	Single Stack	19	4	26.44	-0.794	13
Dan Bartholomew	Double Stack	20	3	11.61	-0.861	14
Walter Anoushian	Double Stack	24	4	14.75	-1.085	15
Denise Dulac	Single Stack	12	6	23.93	-2.006	16

Stage 2	Division	Poin	Penalt	Time	Score	Rank
---------	----------	------	--------	------	-------	------



Kevin Mathis	Single Stack	58	0	22.36	2.594	1
Rob Beebe	Double Stack	49	1	15.77	2.473	2
Chris Schubert	Double Stack	57	0	25.03	2.277	3
Scott Cook	Double Stack	47	1	18.23	2.030	4
Rick Paiva	Double Stack	45	0	22.81	1.973	5
Dan Bartholomew	Double Stack	49	1	19.84	1.966	6
Dexter Liu	Double Stack	55	1	24.71	1.821	7
Keith Silvia	Double Stack	57	0	31.39	1.816	8
Paul Donovan	Revolver	53	2	26.99	1.223	9
Frank Molino	Revolver	45	2	27.17	0.920	10
Vincent Pattvina	Double Stack	41	2	35.37	0.594	11
Walter Anoushian	Double Stack	42	2	43.79	0.502	12
Denise Dulac	Single Stack	38	2	62.78	0.287	13
Ray Palmieri	Double Stack	0	0	0	0.000	14
Jeff Archer	Double Stack	37	4	24.22	-0.124	15
Mike Carey	Single Stack	32	4	59.73	-0.134	16

Stage 3 Division Points Penalt Time Score Rank

Scott Cook	Double Stack	74	0	21.76	3.401	1
Paul Donovan	Revolver	64	0	23.52	2.721	2
Dexter Liu	Double Stack	76	0	28.24	2.691	3
Jeff Archer	Double Stack	76	0	30.74	2.472	4
Dan Bartholomew	Double Stack	57	0	27.3	2.088	5
Rob Beebe	Double Stack	58	1	23.03	2.084	6
Kevin Mathis	Single Stack	60	0	31.45	1.908	7
Walter Anoushian	Double Stack	69	1	32.38	1.822	8
Vincent Pattvina	Double Stack	62	1	33.91	1.533	9
Chris Schubert	Double Stack	50	1	34.06	1.174	10
Keith Silvia	Double Stack	58	3	64.52	0.434	11
Frank Molino	Revolver	44	3	61.16	0.229	12
Ray Palmieri	Double Stack	0	0	0	0.000	13
Mike Carey	Single Stack	34	7	94.45	-0.381	14
Rick Paiva	Double Stack	37	7	28.23	-1.169	15

Denise Dulac Single Stack 14 10 67.23 -1.279 16